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Attempt any two questions.
All questions carry equal marks.
Answer may be written either in English or Hindi
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Q.1 In mathematics, a semiprime is a natural number that is the product of two (not
necessarily distinct) prime numbers. The semiprimes are used in cryptography. The
first five semiprimes are 4 (2 x 2),6 (2% 3),9 (3 x3),10(2 x 5) and 14 2 x 7).

(a) If numbers from 1 to 50 are put in a bag what is the probability of choosing a
semiprime that is a perfect square?

(b) If in part (a) you are given that the chosen number is a semiprime, what is the
probability that it will be a perfect square?

(c) What is the largest two digit, three digit and four digit semiprime?

(2 + 2 + 6 Marks)



1)

A+ 2)

T ¥, o oY dem Th WeRE e ¥ o & deelt (omawmd T8 B B #) @
e 2 o e demel @ A e frgm # Ren o R w o o orre
FEmi 4 (2x2),6(2%3),9(3%x3),102x5W14(2x%x7) ¥

(a) % Bl 3 § 1§ 50 TEmel axh uitfal Wi S 2, O o TR Y ovw den
N T H W o S A A e

() R S (F) § g T wew o o B, A o8 o e wer 3 o 4 A @
ek o & ?

() A, T I IR IFH TN GIQ I 7 Ay HES & A AT |

(2+2+6 %)

Delhi Commission for protection of Child Rights (DCPCR). has launched a study into
the status of children of “denotified tribes” like Sapera and Sansi. Families with
children in the 14 — 18 years age group have been picked at random which covers 11
districts with a sample size of 100 in each.

Prepare a brief questionnaire to collect the data incorporating the individual
information, household information and availability of welfare measures.

(10 Marks)
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Q.3) Give an example in real life of events that have.
(a) zero probability
(b) half probability
(c) probability 1
(d) ahigh probability
(e) alow probability
Justify your choice of the example

(2x5 = 10 Marks)
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Q.4
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Here is a list of probable questions for statistical investigation. For each one, suggest a
data source that you may use for your investigation. Classify the data source chosen by
you as primary or secondary data. Justify your choice.

(a) How does the size of a country’s population relate to its per capita income?
(b) Do some newspapers use longer words than other newspapers?
(¢) Are people’s elbow-to—wrist measurements the same as their foot lengths?

(d) Do you earn more working in a garments shop than in a food shop?

| (e) Is classical music more popular than pop music?

(2x5 = 10 Marks)
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Note: The following question is not meant for the Visually impaired students

Q.5) Following headline appeared in a newspaper supported by the following pictorial
representation:

26 — fold jump in gold smuggling at 1GI

OFFBIZ_
oo o 3R

SHE

[ma] 1 | 2018
6.824

Apil 112 12018

tan2i."13 6540

June 5,13 im 2‘344

Aug 13,13 VTN 3743

"G tram €AG100

(a) Which part of the information represented in the figure supports the headline of
the news reported? :

(b) Suggest three ﬁlore alternating headlines for the newé item that could be
supported by the data represented in the figure.

(2.5+7.56=10 Marks)
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Note: Question for the Visually impaired students

Following headline appeared in a newspaper supported by the accompanying data

Q.35

26 — fold jump in gold smuggling at IGI

SHEEN OFF BIZ
Year No. of gold smuggling | Quantity of gold seized
cases (in kg)
2010 -2011 0 0
20112012 1 2.018
2012 -2013 11 6.824
2013 -2014 110 177.618

The following data shows the link between hike in
import duty and volume of smuggling
Date - Hike in import duty Gold seized by month
(in %age) end (in kg) -
Jan. 17,2012 2% 2.018
April 1,2012 4% 2.018
Jan. 21, 2013 6% 6.540
June. 5, 2013 8% 24.44
Aug. 13,2013 10% 37.43

(a) Which part of the information represented in the figure supports the headline of

the news reported?

(b) Suggest three more alternating headlines for the news item that could be

supported by the data represented in the figure.

(2.5+7.5 = 10 Marks)




feopelt: Py e gRearfta RigaliEl & fg 3
FFS5)  UH GAER O A oTESl B WY U% GaX b g3 e divE 56 s o

g .o, W AN B qeRd ¥ 26 T IR

TS Bl g8t
L ET-aesl @ aREd o= B T QR A A
| (fepeiamr )
2010 — 2011 0 0
2011 - 2012 1 "2.018
2012 - 2013 11 6.824
2013 - 2014 ' 110 177.618
et ot o gowb # g oK awRl & aReT At T
T € |
fesien Faa g ¥ gfe | we B ofd F o= R
(sifcrerar #) ar (fem )
- Jan. 17,2012 2% 2.018
April 1,2012 4% 2.018
~ Jan. 21,2013 6% 6.540
June. 5, 2013 8% 24.44
Aug. 13,2013 O 10% 37.43

(a) ﬁaﬁmﬁnﬁwwﬁwweﬁw%waﬁsﬁ%ﬁg&am%?

() P # R m ol & omm w3 o o e

(2.5+7.5=10 &%)



